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7ZOOLOGY
( Major )

Paper : 6.3
( Economic Zoology )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. Choose the correct answer any three of the
following : 1x3=3

(@) Primary host plant of Muga silkworm is
(i) som and soalu
(i) som and arfjun
(iii) castor and palm
(i) palm and soalu

(b) Cyprinus carpio is a/an
(i) minor carp
(i) major carp
(ifi) ornamental fish
(iv) exotic carp

808 ( Turn Over )



()

(a)

(b)

(c)

(d)

(e)
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Fill in the blay, S

(2)

Chrysanthemym plant product is
generally used in pest control as

(Y chemical control
(i) physical control
(i) natural control

() biologicg] control

(@) The fanction of queen bee is

{i) clea.ning the hive
(i) lay eggs
(iti) collection of pollen

(iv) feeding S brood

B Sdentiﬁc name of castor plant is

—_—

e

g biologi(fal name of silver carp is

S

1

Xim e of humidity
for hatch; ate percentag

g of egg in silkworm is ;

i ;
i INsect pelongs to the order

—_—

1x4=4

(3)

3. Write the difference between any four of the
following : 2%x4=8

(@) Cultural and Physical pest control
(b) Drone and Worker bee

(c) Exotic carp and Indian major carp
(d) Natural and Induced breeding

(e) Eri and Muga silkmoth

4. Write short note 0n any three of the

following : 5x3=15

(a) Beehive

(b) Composite fish culture

(c) Uses of lac

(d) Integrated pest management

(e) Important grouP® of aquaculture

S. Name the different diseases of silkworm.
Write about their nature of infection and

counter measures: 2+(4+4)=10

Or

What are the different castes of a honey bee
Describ€ their  morphological

Rot colony?
con:: Cl-n‘e, € natural product of pest cha:ayt':teristics and the functions they
W taineq from ___ plant. perform in the colony. 2+(4+4)=10
( Continued ) 8A/908 ( Turn Over )
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6. What are pests? Write about the role of
natural products in pest control. 2+8=10

Or

What are the freshwater fish groups of
Assam? Explain about capture and culture
fisheries. : 4+(3+3)=10

7. Describe the hegt plants and life cycle of
Muga silkworm and role of environmental

factors in silkworm rearing. 2+4+4=10
Or
What is lac culture? Write about the different
enemies and Uses of lac. 2+(4+4)=10
* Kk %
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